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� 	�������� 	���� C\ {0}�
�� �
�� 	�	�� �� ����� �
� 	������ �
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C\ {0}� �
� ��������� �
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� ��������� 
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�
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 ���� ��
��
� ������� ��� ��� ���!����� "�� ���
 ����� ��� ������� ���� #��� � ����� �
 �
��
 ��
�������$��% ��
%���
� ���
& � %��%�� ��� ��� � ��%��$������
 ����� ��� �� '� (�����

���� �
� ��� ��&���
� $��
%�$��� )
 ��� �
 �$$���%� #�� &���
 #��%� ����#� �� �
�����%� �
�
�!$�������� ����
��

� %����%�������% �
� �$$�� *������ ������ ������� �� ��� ��
%��!
�
� �������$��% �
 ��� �

���� Ar = {z : 1/r < |z| < r} 1 < r � +∞� "�� ������ ��
�������$��% ��
%���
� �
 �

��� �� ���� %��$��%���� ���
 ����� �
 ��� ���+�� )� �� 
������
�� %�
����� ��� �������$��% ��
%���
� �
 ��� �

���� A 1

τ r =
{
z : 1

τ < |z| < r
}

 τ ≥ 1 

r ≥ 1� )
 ��� � �#�!$�������� %����%�������% T (τ, r; f) #�� �
�����%�� ��� �������$��%
��
%���
 f �
 ��%� �

���� #��%� &���� � $���������� �� ���%���� ��� �������� �� ��%�
��
%���
 �� �$$���%��
& �� ��� �

�� �
� ����� ���
���� %��%��� �� ��� �

���� A 1

τ r� )


���� $�$�� ��� �������$��% ��
%���
 f �
 C\ {0} #��� T (τ, r; f) �
� %��$�� �� ���������
������ �� %�
�������� )
 �,� �� #�� ����������� ���� �� ��� � �������$��% ��
%���
 f ���
���

K (T ) =
{
(α, β) : ∃ (τ0, r0) ∀ (τ, r) τ > τ0, r > r0 : T (τ, r; f ) � τα + rβ

}
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�
��$�� ���
 ���� ��� �� � -�����
�� . �����
 �� ���� -�����
� �� ��
���� �� (ρ1, ρ2)
�
� �� %����� � %��$�� �� ��������� ������ �� f �

)
 ��� ����%���
 �� ��� ������$��
� �� ����
��

� ������ ��� �������$��% �
 C\ {0}
��
%���
 f  ��� -������
 �$$���� ����� � ��/%��
%� �� ��%� ��
%���
� )
 ���� $�$�� � ��/!
%��
%� �� f �� �
�����%��� )� �� ������� ��� $������ �� $������� ��/%��
� ������ �
� ��&
�!
����� �� �$$��$����� ����%�� �� f  �
� %�

�%���
� ���#��
 � %��$�� �� ��������� ������
�� ��%� ��
%���
 �
� $������� ��/%��
� ������� .��� ����
��

� $������ ��� �������$��%
��
%���
� �
 ��� $�
%����� $��
� �� %�
��������

0�� f �� � 
�
!%�
���
� �������$��% ��
%���
 �
 ��� %��$��
 $��
� �
�

K (f) = lim
r→∞ sup

N (r, 0, f) +N (r,∞, f)

T (r, f)
,

#���� ��� ���
���� 
������
� ���� ����
��

� ������ ��� ����� "�� 
����� K (f) #��
�
�����%�� �� 1� ����
��

�� 2� $���� ��� $������ �� /
��
& ��� &������� ��#�� ���
�
�� K (f) ��� ��
%���
� �� � &���
 ����� ρ� "�� �����#�
& "������ . �
�#��� ���� -������

��� 0 ≤ ρ < 1�

�
����� � ���� ��% f(z) .� $ /� 0/0 1#�" 234"%�04 02 0 5� ρ6 0 ≤ ρ < 1	 7#�4

K (f) ≥ 16 0 ≤ ρ ≤ 1/2
K (f) ≥ sinπρ6 1/2 ≤ ρ < 1	

7#�,� �4�83$9�%��, $ � .�,% 10,,�.9�	

. �����
� �� "������ . �� ���#�� �
 ���� $�$�� ��� �������$��% ��
%���
 ��/
�� �

��� $�
%����� $��
� C\ {0} #��� %��$�� �� ��������� ������ (ρ1, ρ2) �,� #���� 0 ≤ ρ1 < 1 
0 ≤ ρ2 < 1�

�� ���������� ��� ���������� 0�� f �� � �������$��% ��
%���
 �

A 1

τ r =
{
z : 1

τ < |z| < r
}

 τ ≥ 1 r ≥ 1� 3�
���

m (τ, r; f) = m

(
1

τ
, f

)
+m (r, f)− 2m (1, f) ,

#���� m (t, f) = 1
2π

∫ 2π

0
log+

∣∣f (teiθ)∣∣ dθ.
��������� �� ���	 7#� 234"%�04

T (τ, r; f) = N (τ, r; f) +m (τ, r; f) + cf log
τ
r 6 τ ≥ 16 r ≥ 16

:#� � N (τ, r; f) =
∫ τ

1
n(1/t,1;f)

t dt+
∫ r

1
n(1,t;f)

t dt+ n(T, f) log
√
τr6 T �, %#� 34�% "� "9�6

n (1/τ, r; f) �, %#� 43/.� 02 109�, 02 f �4 A 1
τ r6 n(T, f) �, %#� 43/.� 02 109�, 02 f 04

T6 cf = 1
2π

∫
E+

f
Im
(

f ′

f dz
)
+ 1

4π

∫
E0

f
Im
(

f ′

f dz
)
6 E+

f = {z ∈ T : |f (z)| > 1}6
E0

f = {z ∈ T : |f (z)| = 1}6 �, "$99�5 %#� ��;$49�44$ "#$ $"%� �,%�" 02 f 	

4� "������ , �,� ��� ��
%���
 T (τ, r; f) ��� � %��$�� �� ��������� �������

��������� �� ��% f(z) .� $ /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4� C\ {0}	 <

"0319� 02 ;� �%$.9� 0 5� , 02 f �, "$99�5 %#� "0319� 02 ;� �%$.9� 0 5� , 02 T (τ, r; f) �,�	



�!" #"$�%�"�%�"& '$ (")'(')*!�% $+�%��'�& ��� ���

��������� �� ��% f(z) .� $ 404�"04,%$4% /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4�

C\ {0}	 =�40%�

δ0(a, f) = 1− lim
τ→+∞
r→+∞

N
(
τ, r; 1

f−a

)
T (τ, r; f)

7#� ;$93� δ0(a, f) �, "$99�5 %#� 5�2�"% 0 5�>"��4"? 02 %#� 234"%�04 f 20 %#� ;$93� a	 7#�

;$93� δ0(a, f) �, $9,0 5�>4�5 $% a = ∞ .? %$@�4A f �4,%�$5 02 1
f−a 	

)� ����� �� 
� ����� �� �� #��%� f(z) �� �������� �� #� #���� N (τ, r, a) T (τ, r)
�
����� �� N(τ, r; 1

f−a) T (τ, r; f ) �� a �� /
��� �
� N (τ, r,∞) �
����� �� N (τ, r; f)�

�� ���� ���	���� 0�� f(z) �� � �������$��% ��
%���
 �
 C\ {0} #��� � %��$�� ��
��������� ������ (ρ1, ρ2)� 5� ����� #��� ����������
 �� ��� �����#�
& "������ � #��%�
�
�#��� ��� �����#�
& -������
� ��� 0 < ρ1 < 1 0 < ρ2 < 16

�� 0�� δ0(0) �
� δ0(∞) �� �#� ���� 
������6 0 � δ0(0) � 1 0 � δ0 (∞) � 1� 5��

%�
 �
� /
� � �������$��% �
 C\ {0} ��
%���
 f #��� � %��$�� �� ��������� ������
(ρ1, ρ2) ��%� ���� δ0(0) = δ0(0, f) δ0(∞) = δ0(∞, f)7

,� 0�� f(z) �� � �������$��% ��
%���
 #��� %��$�� �� ��������� ������ (ρ1, ρ2) #����
0 < ρ1 < 1 0 < ρ2 < 1 �
� ��%� ���� δ0(a) = δ0(a, f) δ0 (b) = δ0 (b, f)� 5���
%�
 �
� ��� ����� ��� $������� ������ �� ��� $��� �� 
������ δ0(a) δ0 (b)7

�
����� �� ��% f(z) .� $ /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4� C\ {0} :�%# $

"0319� 02 ;� �%$.9� 0 5� , (ρ1, ρ2)6 :#� � 0 < ρ1 < 16 0 < ρ2 < 1	 ��%

u = 1− δ0(0, f), v = 1− δ0(∞, f).

�� 7#�46 �4 $55�%�04 %0 % �;�$9 �4�83$9�%��,

0 ≤ u ≤ 1, 0 ≤ v ≤ 1, 8�9

u $45 v ,$%�,2? {
u2 + v2 − 2uv cosπρ1 ≥ sin2 πρ1
u2 + v2 − 2uv cosπρ2 ≥ sin2 πρ2

8,9

If u < min {cosπρ1; cosπρ2} , then v = 1; if v < min {cosπρ1; cosπρ2} , then u = 1.
8�9

��� <99 ;$93�, u6 v "0/1$%�.9� :�%# %#�,�  �,% �"%�04, $ � $"%3$99? 10,,�.9�	

���� ���� ��� �-�����
�

u2 + v2 − 2uv cosπρ1 = sin2 πρ1, u2 + v2 − 2uv cosπρ2 = sin2 πρ2

�
 ��� uv!$��
� ��$����
� ����$��� #��� �������� �
�� {u = v} �
� {u = −v} ���� ���
�
�%����� �
 ��� �-���� S ��/
�� �� 8�9� "���� ����$��� ���%� ��� ��
�� {u = 1} �
�
{v = 1} �� ��� $��
�� (1, cosπρ1) �
� (cosπρ1, 1) (1, cosπρ2) �
� (cosπρ2, 1) ���$�%��!
����� )� 0 < ρ1 ≤ 1

2 ��� /��� �-�����
 �� 8,9 ���#� ���� ��� $��
� (u, v) ���� ������ �
 �
�
�� ��� ����� {u = 1} {v = 1} �� ��� �-���� S �� �� ��� %��
�� �� ���� �-���� %�� �: �� ���
��% ;��
�
& (cosπρ1, 1) �� (1, cosπρ1)� "��� ��� �� (u, v) �� ��
���� �� S1

ρ1
� )� 1

2 < ρ1 < 1
���
 ��� /��� �-�����
 �� 8,9 ������� S �
�� �#� $����� "�� $��
� (u, v) ���� �
 ��� $���
�� S #��%� %�
���
� ��� ����� {u = 1} {v = 1} �� S� "��� ��� �� (u, v) �� ��
���� �� S2

ρ1
�

"�� ���� %�
���������
� ��� ρ2 �
� ��� ��%�
� �-�����
 �� 8,9 �
� %�
��-��
��� #� ����
S1
ρ2

�
� S2
ρ2

� "��� "������ � ���#� ���� ��� $��
� (u, v) ����
&� �� �
� �� �
�����%���
�



��, ����� ����	
�	
�

S1
ρ1

∩ S1
ρ2

 S1
ρ1

∩ S2
ρ2

 S2
ρ1

∩ S1
ρ2

 S2
ρ1

∩ S2
ρ2

���� �� ���������� ��$�
��
& �
 ������ ρ1 �
�
ρ2�

.� ρ1 → 0 ��� /��� ����$�� �� 8,9 ��
�� �� � ����� $������
 #��%� �� ��� ��
��� ��&��
�
;��
�
& (1, 1) �
� (−1,−1)� <�������� �� ρ1 → 1 ��� ����� $������
 �� ��� ��&��
� ;��
�
&
(−1, 1) �
� (1,−1)� "�� ���� ��� ρ2�

"���� ��%�� ��&&��� ���� "������ � %�
 �� ��$$����
��� �� ��� �����#�
& $��$���!
���
�6

)� ρ1 = 0 �
� 0 ≤ ρ2 ≤ 1 �� ρ2 = 0 �
� 0 ≤ ρ1 ≤ 1 ���
 ��� $��
� (u, v) ���� �
 �
�
�� ����� {u = 1} �� {v = 1}� 	���� $��
� �� ����� ����� �� �����������

)� ρ1 = 1 �
� ρ2 = 1 ��� $��
� (u, v) ��� �� �
� $��
� �� ��� �-���� S�
)� ρ1 = 1 �
� 0 < ρ2 < 1 ��� $��
� (u, v) ������ ����
& �� S1

ρ2
�� S2

ρ2
��$�
��
& �


����� ρ2� )� ρ2 = 1 �
� 0 < ρ1 < 1 ��� $��
� (u, v) ������ ����
& �� S1
ρ2

�� S2
ρ2

��$�
��
&
�
 ����� ρ1�

"� $���� "������ � #� 
��� ��� �����#�
& 0������

����� �� ��% f .� $ /� 0/0 1#�" 234"%�04 �4 C\ {0} :�%# $ "0319� 02 >4�%� ;� �%$.9�

0 5� , (ρ1, ρ2)6 9�% {aj} $45 {bk} .� %#� ,�83�4"�, 02 %#�� B� 0,6 |aj | ≥ 16 |bk| < 16 $45

{cj}6 {dk} .� %#� ,�83�4"�, 02 �%, 109�,6 |cj| ≥ 16 |dk| < 1	 ��% p16 p26 q1 $45 q2 .� A�4� $

02 %#� ,�83�4"�, {aj}6 {bk}6 {cj} $45 {dk}  �,1�"%�;�9?	 7#�4

f(z) = zm exp
(
z−ν1P (z)

)
∏

|bk|<1

E
(
bk
z , p1

) ∏
|aj |≥1

E
(

z
aj
, p2

)
∏

|dk|<1

E
(
dk

z , q1
) ∏

|cj |≥1

E
(

z
cj
, q2

) , 8�9

:#� � m ∈ Z6 ν1 ∈ Z+6 P (z) �, $ 109?40/�$96 degP (z) = ν1+ν26 ν2 ∈ Z+6 $45 ν1 ≤ [ρ1]6
ν2 ≤ [ρ2]6 E(z, p) �, %#� C��� ,% $,, �9�/�4%$ ? 2$"%0 	

"�� &�
�� �� ��� ��-��
%� {aj} �
� ���$�%������ �� {cj} �� ��/
�� �� ������ "��
&�
�� �� ��� ��-��
%� {bk} �
� ���$�%������ �� {dk} �� ��/
�� �� ��� ��#��� 
�
!
�&�����
�
��&�� p ��%� ���� ∑

k

|bk|p+1
< +∞. 8�9

.
 ��$����
� $��$���� �� �������$��% �
 ��� $�
%����� $��
� C\ {0} ��
%���
 #��� �
%��$�� �� ��������� ������ (ρ1, ρ2) #���� ���� ρ1 �
� ρ2 ��� ���� ���
 �
� �� ��� �����#�
&

����� �� ��%

f(z) =

∏
|bk|<1

(
1− bk

z

) ∏
|aj |≥1

(
1− z

aj

)
∏

|dk|<1

(
1− dk

z

) ∏
|cj |≥1

(
1− z

cj

) 8=9

$45

h(z) =

∏
|bk|<1

(
1 + |bk|

z

) ∏
|aj |≥1

(
1 + z

|aj |
)

∏
|dk|<1

(
1− |dk|

z

) ∏
|cj |≥1

(
1− z

|cj |
) 8�9
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7#� 234"%�04 h(z) �, "$99�5 %#� 234"%�04 $,,0"�$%�5 :�%# f 	 7#�4

T (τ, r; f) ≤ T (τ, r;h) + (cf − ch) log
τ

r
. 8>9

"� $���� 0���� , �
� %�
 ��� ��� ���� ���� �� �
 ��� %�����%�� ������
 ���� $�
,?�!,?= 0���� ���� ��� #��� �#� �������
�� $����%�� �
� 3�/
����
 ��

����� �� ��% g(z) .� $ #090/0 1#�" 234"%�04 �4 C\ {0} :�%#03% B� 0, $45

lim
τ→+∞

T (τ, 1; g)

τμ1
= 0 for some μ1 > 0, 8?9

lim
r→+∞

T (1, r; g)

rμ2
= 0 for some μ2 > 0. 8�@9

7#�4

g(z) = zm exp
(
z−ν1P (z)

)
, 8��9

:#� � m ∈ Z6 ν1 ∈ Z+6 P (z) �, $ 109?40/�$96 degP (z) = ν1+ν26 ν2 ∈ Z+6 $45 ν1 ≤ [μ1]6
ν2 ≤ [μ2]	

������ 0�� m = 1
2πi

∫
|z|=1

g′(z)
g(z) dz� A�
����� ��� ��
%���
 G(z) = z−mg(z)� 4� ������ ��

8��� 0���� ��,9 � ���
%� �� logG(z) �� �������
�� �
 C\ {0}� A�
������
& ��� 0����
�
�
$�
���
 �� logG(z) #��� ��� %��B%��
�� {ck} #� �����


log |G(z)| = 1

2

∑
k∈Z

(
ckr

k + c̄−kr
−k
)
eikθ, |z| = r ≥ 1,

1

2

(
ckr

k + c̄−kr
−k
)
=

1

2π

2π∫
0

log
∣∣G (reiθ)∣∣e−ikθdθ, 8�,9

log |G(z)| = 1

2

∑
k∈

(
c−kτ

k + c̄kτ
−k
)
e−ikθ , |z| = 1/τ, τ � 1,

1

2

(
c−kτ

k + c̄kτ
−k
)
=

1

2π

2π∫
0

log
∣∣G (eiθ/τ)∣∣eikθdθ. 8��9

<�
%� |log |G(z)|| ≤ |log |g(z)|| + |m| |log |z|| #� &�� ���� 8�@9 8�,9 �� r → +∞ ����
ck = 0 ��� k ≥ μ2 �
� ���� 8?9 8��9 �� τ → +∞ ���� c−k = 0 ��� k ≥ μ1� "��������

logG(z) =

ν2∑
k=0

ckz
k +

ν1∑
k=1

c−kz
−k = z−ν1

ν2∑
k=−ν1

ckz
k+ν1 = z−ν1P (z),

ν1 ≤ [μ1] ν2 ≤ [μ2] �
� g(z) = zm exp (z−ν1P (z))� "��� %��$����� ��� $�����

�
����� �� < "0319� 02 ;� �%$.9� 0 5� , 02 %#� 234"%�04

F (z) =
∏

|bk|<1

E

(
bk
z
, p1

) ∏
|aj |≥1

E

(
z

aj
, p2

)

�, �83$9 %0 %#� "0319� 02 ;� �%$.9� 0 5� , 02 234"%�04 N (τ, r, 0) %� /:�,�	



�,. ����� ����	
�	
�

������ 0�� (ρ′1, ρ
′
2) �� ��� %��$�� �� ��������� ������ �� N (τ, r, 0) ��,� 0���� ,�� *��� ���

/��� ��
����
��� ������� ���� **"� N (τ, r, 0) ≤ T (τ, r, F )+ 4 log 2+C · log τ
r  #���� C

�� � %�
���
� ��$�
��
& �
 ��� ��
%���
 F  #� ���� ρ′1 ≤ ρ1 �
� ρ′2 ≤ ρ2 #���� (ρ1, ρ2)
�� ��� %��$�� �� ��������� ������ �� F (z)� .� p1 �� ��� ��#��� �
��&�� 
����� ��%� ����∑
k

|bk|p1+1
< +∞ �
� p2 �� ��� ��#��� �
��&�� 
����� ��%� ����

∑
k

|ak|−p2−1
< +∞ 

���
 p1 ≤ ρ′1 ≤ p1 + 1 �
� p2 ≤ ρ′2 ≤ p2 + 1� C��
& ���� $� �>� �
� %�
 &��

logM (r, F ) ≤ logM

⎛
⎝r,

∏
|bk|<1

E

(
bk
z
, p1

)⎞⎠+ logM

⎛
⎝r,

∏
|ak|≥1

E

(
z

ak
, p2

)⎞⎠ <

< C (p1)

∞∫
r

n (r/s, 1, 0;F )

sp1+1

ds

1 + s
+ C (p2)

∞∫
1/r

n (1, rs, 0;F )

sp2+1

ds

1 + s
, 8��9

logM

(
1

τ
, F

)
≤ logM

⎛
⎝1

τ
,
∏

|bk|<1

E

(
bk
z
, p1

)⎞⎠+ logM

⎛
⎝1

τ
,
∏

|ak|≥1

E

(
z

ak
, p2

)⎞⎠ <

< C (p1)

∞∫
1/τ

n (1/τs, 1, 0;F )

sp1+1

ds

1 + s
+ C (p2)

∞∫
τ

n (1, s/τ, 0;F )

sp2+1

ds

1 + s
. 8��9

���� ���� logM (r, F ) = o
(
rp2+1

)
 r → ∞ �
� logM

(
1
τ , F

)
= o

(
τp1+1

)
 τ → ∞� <�
%�

��� �
�-�������� ρ1 ≤ p1 +1 ρ2 ≤ p2 +1 ��� ����� �� �� ρ′1 = p1 +1 �
� ρ′2 = p2 +1 ���

ρ′1 ≥ ρ1 �
� ρ′2 ≥ ρ2� 0�� 
�# ρ1 < p1+1 ρ2 < p2+1� "��
 ��� �
� ρ′′1  ρ′1 < ρ′′1 < p1+1

�
� ��� �
� ρ′′2  ρ′2 < ρ′′2 < p2 + 1 ��� n (1, t, 0;F) < C2r
ρ′′
2 �
� n (1/t, 1, 0;F ) < C1τ

ρ′′
1

���� ��� ��� r �
� τ ≥ 1 #���� C1 C2 ��� ���� %�
���
��� *��� ���� �
� ���� 8��9 8��9

#� �����
 logM (r, F ) < C3r
ρ′′
2 �
� logM

(
1
τ , F

)
< C4τ

ρ′′
1 � 2�
%� ρ1 ≤ ρ′′1  ρ2 ≤ ρ′′2  �
�

��������� ρ1 ≤ ρ′1 ρ2 ≤ ρ′2�

����� �� ����	 
� 3�
��� ��� ��
%���
 �
 ��� 
���
���� �� 8�9 �� F1(z) �
� �

��� ��
���
���� �� F2(z)� <�
%� N (τ, r; f) ≤ T (τ, r; f) − cf log

τ
r �
� N (τ, r; 1/f) ≤

≤ T (τ, r; f) − c1/f log
τ
r ��� %��$��� �� ��������� ������ �� N (τ, r; f) �
� N (τ, r, 1/f)

�� 
�� �
%��� ����#��� ��� %��$�� �� ��������� ������ (ρ1, ρ2)� "�� ���� �� ���� ���
��� %��$�� �� ��������� ������ �� Fi(z) i = 1, 2 �� ��� "������ ,� A�
����� ��� D���!

���� �������$��% ��
%���
 g(z) = f(z)F2(z)
F1(z)

� "�� ��
%���
 g(z) �����/�� ��� %�
�����
� ��

0���� �� 4� 0���� � ��� $���� �� %��$������

����� �� �	�� 
 �� ������� 
� A�
����� ��� ����%����� ��
%���
 h(z) = h1(z)h2(z) #����

h1(z) =

∏
|bk|<1

(
1 + |bk|

z

)
∏

|dk|<1

(
1− |dk|

z

) �
� h2(z) =

∏
|aj |≥1

(
1 + z

|aj |
)

∏
|cj |≥1

(
1− z

|cj |
) ,
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�
� ����� ���� ��� #���!+
�#
 ��$����
�����
�

log h1(z) = z

∞∫
1

N (t, 1, 0)
dt

(zt+ 1)
2 + z

∞∫
1

N (t, 1,∞)
dt

(zt− 1)
2 8�=9

log h2(z) = z

∞∫
1

N (1, t, 0)
dt

(z + t)
2 + z

∞∫
1

N (1, t,∞)
dt

(z − t)
2 8��9

����� ��� 0 < arg z < π� )� �� ��B%��
� �� ��%�� ��� ����
���
 �
 ��� ������ �� r �
� τ ���
#��%� �������
������

m (r, h) > 0, m (r, 1/h) > 0 8�>9

m (1/τ , h) > 0, m (1/τ, 1/h) > 0. 8�?9

.����� ���� δ0(0, f) > 0 δ0(∞, f) > 0� C��
& 0���� , #� �����
 ��� �
�-��������

lim
τ→+∞
r→+∞

T (τ, r; f)

N (τ, r, f)
≤ lim

τ→+∞
r→+∞

(
T (τ, r;h) + (cf − ch) log

τ
r

N (τ, r, h)

)
≤

≤ lim
τ→+∞
r→+∞

T (τ, r;h)

N (τ, r, h)
+ lim

τ→+∞
r→+∞

(cf − ch) log
τ
r

N (τ, r, h)
.

)
 ���# �� ��� ��%� ���� lim
τ→+∞
r→+∞

(cf−ch) log
τ
r

N(τ,r,h) = 0 ��%���� ��� ��
%���
 h �� ��� ��
%���


#��� %��$�� �� &�
��� #��%� �-��� D��� #� �����
 lim
τ→+∞
r→+∞

N(τ,r,f)
T (τ,r;f) ≥ lim

τ→+∞
r→+∞

N(τ,r,h)
T (τ,r;h) �

"��� δ0(0, h) > 0 �
� ��� ���� �� ���� ��� δ0(∞, h)� 2�
%� �
�-�������� 8�>9 8�?9 ���
����� ��� ��� ��B%��
��� ���&� ������ �� r �
� τ � "�� ��
%���
 log

∣∣h (reiθ)∣∣ �� �
 ���

��
%���
 �� θ ��%�����
& #��
 θ ������ ���� 0 �� π� 2�
%� �
 ���# �� 8�>9 log |h (r)| > 0 
log |h (−r)| < 0 �
� ����� �
���� � 
����� β1 = β1(r) �
�-���� �������
�� �
� ��%�
���� 0 < β1(r) < π log

∣∣h (reiβ1
)∣∣ = 0� "�� ����� %�
���������
� ��� ���� ����� ���

log
∣∣∣h(eiθ

τ

)∣∣∣ #��� �
�-���� �������
�� β2 = β2(τ)� *�� ��B%��
��� ���&� ������ r ≥ 1

�
� τ ≥ 1 ���
& 8�=9 8��9 #� ����

m (r, h) ≤ 1

π

β1∫
0

log
∣∣h2

(
reiθ

)∣∣dθ + C1 = lim
δ→0

1

π

β1∫
δ

log
∣∣h2

(
reiθ

)∣∣dθ + C1 ≤

≤
∞∫
1

N (1, t, 0)P (t, r, β1)dt+

∞∫
1

N (1, t,∞)P (t, r, π − β1)dt− 8,@9

− lim
δ→0

∞∫
1

N (1, t, 0)P (t, r, δ)dt− lim
δ→0

∞∫
1

N (1, t,∞)P (t, r, π − δ)dt+ C1,

m (1/τ , h) ≤ 1

π

β2∫
0

log

∣∣∣∣h1

(
eiθ

τ

)∣∣∣∣dθ + C2 = lim
δ→0

1

π

β2∫
δ

log

∣∣∣∣h1

(
eiθ

τ

)∣∣∣∣dθ + C2 ≤



�,� ����� ����	
�	
�

≤
∞∫
1

N (t, 1, 0)P (t, τ, β2)dt+

∞∫
1

N (t, 1,∞)P (t, τ, π − β2)dt− 8,�9

− lim
δ→0

∞∫
1

N (t, 1,∞)P (t, τ, π − δ)dt− lim
δ→0

∞∫
1

N (t, 1, 0)P (t, τ, δ)dt+ C2,

#���� P (t, s, γ) = 1
π

s sin γ
t2+2ts cos γ+r2 �
� C1 C2 ��� %�
���
�� ���� �
�� ��$�
�� �
 ���

��
%���
 h (z)� "�� ������ lim
δ→0

∞∫
1

N (1, t, 0)P (t, r, δ)dt lim
δ→0

∞∫
1

N (t, 1, 0)P (t, τ, δ)dt ���

�-��� �� D���� C��
& #���!+
�#
 $��$������ �� ��� E�����
 �
��&��� ��� ��� ����!$��
�

���� $� ,?>� #� ���� lim
δ→0

∞∫
1

N (1, t,∞)P (t, r, π − δ)dt = N (1, r,∞) 

lim
δ→0

∞∫
1

N (t, 1,∞)P (t, τ, π − δ)dt = N (τ, 1,∞)� 4� 0���� , 

T (τ, 1) ≤
∞∫
1

N (t, 1, 0)P (t, τ, β2)dt+

∞∫
1

N (t, 1,∞)P (t, τ, π − β2)dt+cf log τ+C1, 8,,9

T (1, r) ≤
∞∫
1

N (1, t, 0)P (t, r, β1)dt+

∞∫
1

N (1, t,∞)P (t, r, π − β1)dt+cf log
1

r
+C2. 8,�9

0�� U  V ��
��� �#� $������� -��
������ ��%� ���� U > u = 1− δ0(0, f) 
V > v = 1− δ0(∞, f)� "�� ��/
����
 �� ��/%��
%� 83�/
����
 �9 ��$����

N (t, r1, 0) < UT (t, r1) , N (t, r1,∞) < V T (t, r1) ��� ���� /
�� r1 > r0, 8,�9

N (τ1, s, 0) < UT (τ1, s) , N (τ1, s,∞) < V T (τ1, s) ��� ���� /
�� τ1 > τ0. 8,�9

A����� ε �� ���� 0 < ε < min {ρ1; ρ2} ε + max {ρ1; ρ2} < 1� 4� E����F� 0����

�� $� ,��� ����� �
���� ��-��
%�� {rn}
(
lim
n→∞ rn = +∞

)
8��$�
��
& �
 ε9 �
� {τm}(

lim
m→∞ τm = +∞

)
8��$�
��
& �
 ε9 ��%� ����

[ T (t,r1)
tρ1−ε ≤ T (τm,r1)

τ
ρ1−ε
m

, (τ0 ≤ t ≤ τm) ,
T (t,r1)
tρ1+ε ≤ T (τm,r1)

τ
ρ1+ε
m

, (τm ≤ t) ,
8,=9

[ T (τ1,s)
sρ2−ε � T (τ1,rn)

r
ρ2−ε
n

, (r0 � t � rn) ,
T (τ1,s)
sρ2+ε � T (τ1,rn)

r
ρ2+ε
n

, (rn � t) .
8,�9

C��
& 8,�9 8,=9 �
 8,,9 �
� 8,�9 8,�9 �
 8,�9 #� �����


T (τm, r1) ≤ UT (τm, r1)

{ τm∫
0

(
t

τm

)ρ1−ε

P (t, τm, β2) dt+

∞∫
τm

(
t

τm

)ρ1+ε

P (t, τm, β2) dt

}
+
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+V T (τm, r1)

{ τm∫
0

(
t

τm

)ρ1−ε

P (t, τm, π − β2) dt+

∞∫
τm

(
t

τm

)ρ1+ε

P (t, τm, π − β2) dt

}
+ 8,>9

+η1 (τm) + T (1, r1) + cf log τm + C1,

η1 (τm) ≤ {N (τ0, 1, 0) +N (τ0, 1,∞)} τm (τ0 − 1)

(τm − τ0)
2 .

T (τ1, rn) ≤ UT (τ1, rn)

{ rn∫
0

(
t

rn

)ρ2−ε

P (t, rn, β1) dt+

∞∫
rn

(
t

rn

)ρ2+ε

P (t, rn, β1) dt

}
+

+V T (τ1, rn)

{ rn∫
0

(
t

rn

)ρ2−ε

P (t, rn, π − β1) dt+

∞∫
rn

(
t

rn

)ρ2+ε

P (t, rn, π − β1) dt

}
+ 8,?9

+η2 (rn) + T (τ1, 1) + cf log
1

rn
+ C2, η2 (rn) ≤ {N (1, r0, 0) +N (1, r0,∞)} rn (r0 − 1)

(rn − r0)
2 .

"�� �����#�
& %�
���������
� ��� %������ ��� �
�� ��� 8,>9 ��� 8,?9 ��� %�
���������
� ���
��%� ��� ����� (�� ��� �����������
 t = sτm #� �����
 ��� 0 < ρ1 − ε < ρ1 + ε < 1

τm∫
0

(
t

τm

)ρ1−ε

P (t, τm, β2) dt+

∞∫
τm

(
t

τm

)ρ1+ε

P (t, τm, β2) dt =

=

∞∫
0

sρ1+εP (s, 1, β2) ds+

1∫
0

(
sρ1−ε − sρ1+ε

)
P (s, 1, β2) ds. 8�@9

)� �� #���!+
�#
 ����
∞∫
0

sρ1+εP (s, 1, β2) ds = sin β2(ρ1+ε)
sinπ(ρ1+ε) � *�� &���
 η > 0 �
� ���

0 < ε < ε0 (η) #� ���� 0 <
∫ 1

0 (sρ1−ε − sρ1+ε)P (s, 1, β2) ds < η� 2�
%� �
� ���� 8,>9
����� �������
 �� T (τm, r1) ��� ε < ε0 (η) #� �����


1 ≤ sup
0≤γ≤π

{
U
sin γ (ρ1 + ε)

sinπ (ρ1 + ε)
+ V

sin (π − γ) (ρ1 + ε)

sinπ (ρ1 + ε)

}
+

+(U + V ) η +O

(
1

τmT (τm, r1)

)
+

cf log τm
T (τm, r1)

. 8��9

<�������� #� �����
 ���� 8,?9

1 ≤ sup
0≤σ≤π

{
U
sinσ (ρ2 + ε)

sinπ (ρ2 + ε)
+ V

sin (π − σ) (ρ2 + ε)

sinπ (ρ2 + ε)

}
+

+(U + V ) η +O

(
1

rnT (τ1, rn)

)
+

cf log
1
rn

T (τ1, rn)
. 8�,9

0�� n → ∞ m → ∞ �
 8��9 8�,9 �
� ���
 ��+� ��� $��%����
& �� ��� ����� ε → 0 
η → 0 U → u V → v #� %�
 ��� ���� ��� ��/%��
%��� u �
� v ������� ��� ������ ��
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sinπρ1 ≤ sup
0≤γ≤π

{u sin γρ1 + v sin (π − γ) ρ1} ,
sinπρ2 ≤ sup

0≤σ≤π
{u sinσρ2 + v sin (π − σ) ρ2} .

<�
%� u sin γρ1 + v sin (π − γ) ρ1 �� � %�
��
���� ��
%���
 �� γ #� %�
 /
� � ����� �� γ
��� #��%� ��� sup �� �����
��� *�� ���� γ 

sinπρ1 ≤ u sin γρ1 + v sin (π − γ) ρ1 = (u− v cosπρ1) sin γρ1 + v sinπρ1 cos γρ1.

2�
%� �� <%�#��DF� �
�-������ #� &�� 8,9�

"�� ��������� %�
��-��
%� �� "������ � �� ��� �����#�
&

�
����� �� �� ��% f .� $ /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4� C\ {0} :�%# $

"0319� 02 ;� �%$.9� 0 5� , (ρ1, ρ2)6 :#� � 0 ≤ ρ1 ≤ 1/2 $45 0 ≤ ρ2 ≤ 1/2	 �2 δ0(a, f) ≥
≥ 1−min {cosπρ1, cosπρ2} 345� %#� "045�%�04 %#$% ��%#� 0 ≤ ρ1 ≤ 1/2 $45 0 < ρ2 ≤ 1/26

0 0 ≤ ρ2 ≤ 1/2 $45 0 < ρ1 ≤ 1/26 %#�4 a �, $ 34�83� 5�>"��4"? 02 /� 0/0 1#�" 234"%�04

f(z)	
��� ��% f .� $ /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4� C\ {0} :�%# $ "0319� 02

;� �%$.9� 0 5� , (ρ1, ρ2)6 :#� � 0 � ρ1 < 1/2 $45 0 � ρ2 < 1/2	 �2 δ0(a, f) > 0 345� %#�

"045�%�04 %#$% ��%#� ρ1 = 06 0 � ρ2 < 1/2 0 ρ2 = 06 0 � ρ1 < 1/26 %#�4 a �, $ 34�83�

5�>"��4% ;$93� 02 /� 0/0 1#�" 234"%�04 f(z)	 �4 1$ %�"39$ 6 /� 0/0 1#�" 234"%�04 :�%#

"0319� 02 ;� �%$.9� 0 5� , (ρ1, ρ2)6 :#� � $% 9�$,% ��%#� ρ1 0 ρ2 �, �83$9 %0 B� 06 "$440%

#$;� /0 � %#$4 04� 5�>"��4% ;$93�	

������ )� δ0(a, f) > 1−min {cosπρ1, cosπρ2} ���
 ��� ������ �� ��� ������� �����������

�����#� ���� 8�9� )� 0 ≤ ρ1 ≤ 1/2 0 < ρ2 ≤ 1/2 �� 0 ≤ ρ2 ≤ 1/2 0 < ρ1 ≤ 1/2 �
�
δ0(a, f) = 1 − min {cosπρ1, cosπρ2} ���� ���
� ���� u = min {cosπρ1, cosπρ2} �

"������ �� 5������ ���� �� &�
������� ��� u = cosπρ1 ���
 ���� 8,9 �� �����#� ���� v = 1
�� v ≤ cos 2πρ1� )
 ��� ���� %��� ���� 8�9 #� �����
 ���� u = 1 ��%���� cos 2πρ1 < cosπρ1
#��
 0 < ρ1 ≤ 1/2 ���� ����� �� ��� %�
�����%���
� "��� #� ������ ���� v = 1�

��# #� ��� �
�������� �
 /
��
& � ��#��!���
� �������� �� -��
����

lim
τ→+∞
r→+∞

N (τ, r, 0; f) +N (τ, r,∞; f)

T (τ, r; f)
,

���� �� �� ��� �� $���� � �����
� �� "������ . ��� �������$��% ��
%���
� �
 ��� $�
%�����
$��
� C\ {0}� "��� � ���&�� ����/%����
 ��� $���� �� "������ � ����� ��

�
����� �� ��% f .� $ /� 0/0 1#�" 234"%�04 �4 %#� 134"%3 �5 19$4� C\ {0} :�%# $

"0319� 02 ;� �%$.9� 0 5� , (ρ1, ρ2)6 :#� � 0 ≤ ρ1 < 16 0 ≤ ρ2 < 1	 7#�4

lim
τ→+∞
r→+∞

N (τ, r, 0; f) +N (τ, r,∞; f)

T (τ, r, f)
�



�!" #"$�%�"�%�"& '$ (")'(')*!�% $+�%��'�& ��� �,2

�

⎧⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎩

1, �2 ρ1 = 0, 0 ≤ ρ2 < 1,

0 ρ2 = 0, 0 ≤ ρ1 < 1,

1

min

(
sup

0≤γ≤π

sin γρ1

sinπρ1
; sup
0≤σ≤π

sinσρ2

sinπρ2

) , �2 0 < ρ1 < 1, 0 < ρ2 < 1.

8��9

7#� �4�83$9�%? $.0;� �, .�,% 10,,�.9�	

������ *�� ��� %��$�� �� ��������� ������ (ρ1, ρ2) ��%� ���� ρ1 = 0 0 ≤ ρ2 < 1 �� ρ2 = 0 
0 ≤ ρ1 < 1 "������ � �����#� ���� ��� ��%� ���� � ��
%���
 #��� � %��$�� �� ���������
������ (ρ1, ρ2) #���� �� ����� ������ ρ1 �� ρ2 �� �-��� �� D��� ��� �� ���� �
� ��/%��
�
����� �� ����

lim
τ→+∞
r→+∞

N (τ, r, 0; f) +N (τ, r,∞; f)

T (τ, r, f)
≥

≥ max

{
lim

τ→+∞
r→+∞

N (τ, r, 0; f)

T (τ, r, f)
, lim

τ→+∞
r→+∞

N (τ, r,∞; f)

T (τ, r, f)

}
= 1.

)
 ��� ��-��� 0 < ρ1 < 1 �
� 0 < ρ2 < 1� "�� 8,,9 �
� 8,�9 ��$�� ��� �����#�
&
�
�-������

T (τ, r, f) ≤
∞∫
1

N (t, 1, 0)P (t, τ, β2)dt+

∞∫
1

N (t, 1,∞)P (t, τ, π − β2)dt+

+

∞∫
1

N (1, t, 0)P (t, r, β1)dt+

∞∫
1

N (1, t,∞)P (t, r, π − β1)dt+ cf log
τ

r
+ C1 + C2, 8��9

#��%� �� ����� ��� ��� ��B%��
��� ���&� ������ r ≥ 1 τ ≥ 1� )� λ1 = λ1 (τ) =
= max {β2 (τ) , π − β2} �
� λ2 = λ2 (r) = max {β1 (r) , π − β1} ���
 ��������� λ1 ≥ π/2 
λ2 ≥ π/2 �
� max {P (t, r, β1) , P (t, r, π − β1)} = P (t, r, λ2) 
max {P (t, τ, β2) , P (t, τ, π − β2)} = P (t, τ, λ1)� 2�
%� �� 8��9

T (τ, r, f) ≤
∞∫
1

{N (t, 1, 0) +N (t, 1,∞)}P (t, τ, λ1) dt+

+

∞∫
1

{N (1, t, 0) +N (1, t,∞)}P (t, r, λ2)dt+ cf log
τ

r
+ C1 + C2.

.$$�� E����F� 0���� �� ��� ��
%���
� �
 �-���� ���%+��� �
 ���� �
��&���� ����� �� �

��� $���� �� "������ �� 5� �����
 ��� �
�-������

T (τm, rn, f) ≤ N1 (τm)A (ρ1) +N2 (rn)A (ρ2) + η1 (τm) + η2 (rn) +

+2η + cf log
τm
rn

+ C1 + C2,

#���� N1 (τm) = N (τm, 1, 0) + N (τm, 1,∞) �
� N2 (rn) = N (1, rn, 0) + N (1, rn,∞) 

A (ρ1) = sinλ1(ρ1+ε)
sinπ(ρ1+ε)  A(ρ2) = sinλ2(ρ2+ε)

sinπ(ρ2+ε) � .���� �������
 ��� ���� �
�-������ ��



�, ����� ����	
�	
�

N (τm, rn, 0) + N (τm, rn,∞) #���� N (τm, rn, 0) + N (τm, rn,∞) = N1 (τm) + N2 (rn)
#� &��

T (τm, rn; f)

N (τm, rn, 0) +N (τm, rn,∞)
≤ A(ρ1)N1 (τm) +A(ρ2)N2 (rn)

N1 (τm) +N2 (rn)
+

cf log
τm
rn

N1 (τm) +N2 (rn)
+

+O

(
1

τm (N1 (τm) +N2 (rn))
+

1

rn (N1 (τm) +N2 (rn))

)
+

2η

N1 (τm) +N2 (rn)
+

+
C1 + C2

N1 (τm) +N2 (rn)
.

E����
& �� ��� ��#�� ����� �
 ��� $������� �
�-������ #��
 n → +∞ m → +∞ #� �����


lim
τ→+∞
r→+∞

T (τ, r; f)

N (τ, r, 0) +N (τ, r,∞)
≤

≤ min {A(ρ1), A(ρ2)} ≤ min

{
sup

0≤γ≤π

sin γ(ρ1 + ε)

sinπ(ρ1 + ε)
; sup

0≤σ≤π

sinσ(ρ2 + ε)

sinπ(ρ2 + ε)

}
,

��
%� lim
n→+∞
m→+∞

A(ρ1)N1(τm)+A(ρ2)N2(rn)
N1(τm)+N2(rn)

= min {A(ρ1), A(ρ2)}� "��
 $����
& �� ��� �����

#��
 ε → 0 %��$����� ��� $���� �� 8��9�
"�� �����#�
& ��
%���
 #��� %��$�� �� ��������� ������ (λ2, λ1) #���� 0 < λ1 < 1 

0 < λ2 < 1 #��� �� ���� �� ���# ���� ��� ������ �� "������ � �� ���� $������� 

Hα1,α2 (z) =

∞∏
ν=1

(
1 +

α
1/λ1

1 (z + c1)

aν

) ∞∏
n=2

(
1 + bnα

1/λ2

2

(
1

z
+ c2

))
, 8��9

#���� aν = ν1/λ1  (ν = 1, 2, 3, ...) bn = 1
n1/λ2

(n = 2, 3, ...) 0 ≤ α1 �
� 0 ≤ α2 c1 ≥ 0 

c2 ≥ 0� ��# #� #��� ���+ �� ��� ����$����% �������� �� Hα1,α2 (z) #��
 z → ∞ �
�

z → 0� "�� ����$����% �������� �� f (z;λ) =
∞∏
ν=1

(
1 + z

cν

)
80�
���G�� ��
%���
�9 #����

cν = ν1/λ (ν = 1, 2, 3, ...) 0 < λ < 1 �� #���!+
�#
 ��� �=� �
� �� ��$����

logHα1,α2 (z) =
πα1

sinπλ1
zλ1 (1 + ε1 (z)) , 8�=9

#���� ε1 (z) → 0 �
������� �� z → ∞ �
 ��� �
&�� |arg z| ≤ π − θ (0 < θ < π) �
�

logHα1,α2 (z) =
πα2

sinπλ2

1

zλ2

(
1 + ε2

(
1

z

))
, 8��9

#���� ε2
(
1
z

)→ 0 �
������� �� z → 0 �
 ��� �
&�� |arg z| ≤ π− θ (0 < θ < π)� )� �� ����
�� �
��� ���� 8�=9 �
� 8��9 ���� �� r → ∞ �
� τ → ∞ {

m (r,Hα1,α2 (z)) ∼ α1r
λ1

λ1 sinπλ1

(
1
2 < λ1 < 1

)
,

m (r,Hα1,α2 (z)) ∼ α1r
λ1

λ1

(
0 < λ1 ≤ 1

2

)
,

8�>9

⎧⎨
⎩

m
(
1/τ ,Hα1,α2 (z)

)
∼ α2τ

λ2

λ2 sinπλ2

(
1
2 < λ2 < 1

)
,

m
(
1/τ,Hα1,α2 (z)

)
∼ α2τ

λ2

λ2

(
0 < λ2 ≤ 1

2

)
.

8�?9



�!" #"$�%�"�%�"& '$ (")'(')*!�% $+�%��'�& ��� �,�

0�� n(1/t, 1; 0) n(1, t; 0) ��
��� ��� %��
��
&!��
%���
� ����%����� #��� Hα1,α2 (z)� 	��!
��
��� n(1/τ, 1; 0) ∼ α2τ

λ2 (τ → ∞) �
� n(1, r; 0) ∼ α1r
λ1 (r → ∞)� .
� ��
%�

N (τ, r, 0) ∼ α1r
λ1

λ1
+

α2τ
λ2

λ2
(τ → ∞, r → ∞) . 8�@9

C
��� ��:���
� ������ �� 0 < λ1 < 1 �
� 0 < λ2 < 1 ����$����% �������
� 8�>9 8�?9 �
�
8�@9 ��$�� ��� �-������ �
 8��9�

����� �� �	�� 

 �� ������� 
� )
 $����
& ���� "������ ��� %�
����%��� �
��$��� ���
����/%����
 �� �
��$��� &���
 �� .����� 	���� �
� 5���&�
& 2� H� *�%�� ��� �
 ���
%�����%�� %���� .%%����
& �� ��� &�������%�� ���%�����
 �����#�
& ��� �������
� �� "������
� #� ���� ���# ���� ��� ����� $��
� (u, v) �
 ��� %��
�� �� ��� �-���� 0 ≤ u ≤ 1 
0 ≤ v ≤ 1 %�� �: �� ��� ��% �� �
� �� ����$�� 8,9 #��%� ���� ����� ����� �
���� �
�������$��% ��
%���
 f (z) #��� � %��$�� �� ��������� ������ (λ2, λ1) ��%� ����

u = 1− δ0(0, f), v = 1− δ0(∞, f)

)� 0 < λi � 1
2 (i = 1, 2) ��� ��
�� u = 1 �
� v = 1 ���� �� �� ����� �� ���� %��
��� 0��

P1 (β) : (cos (π − β)λ1, cosπλ1) P2 (β) : (cos (π − β)λ2, cosπλ2) (0 ≤ β ≤ π)� 	�����
��� $��
� P1 (β) �� P2 (β) ���%����� ��� ��% #��%� ���� ����� ��$�
��
& �
 ������ λ1 �
�
λ2� "��
 ��� Lβ �� ��� %����� ��
� ��&��
� ;��
�
& ��� $��
� P1 (β) �� P2 (β) �� (1, 1)�
0�� Cβ �� ��� $��� �� Lβ %�
���
�� �
 ��� �-���� 0 ≤ u ≤ 1 0 ≤ v ≤ 1� *���� �� #��� ��
$����� ���� ����� $��
� �� Cβ �� � $������� $������
 �� (1− δ0(0, f), 1− δ0(∞, f))� .� β
������ ���� 0 �� π �
� �� ��� $��
�� P1 (β) P2 (β) ���%����� ��� ��% #��%� ���� ����� �
�
Cβ �#��$� ���� ��� #���� %��
�� ���%����� ������ "�������� ����� $��
� �
 ��� %��
�� ��
� $������� $������
 �� (1− δ0(0, f), 1− δ0(∞, f))� A�
����� ��� ��
%���


f (z) =
Hα1,α2 (z)Hα3,α4 (−z)

Hα5,α6 (z)Hα7,α8 (−z)
8��9

#���� Hαi,αj (z) �� ��
%���
 8��9� *�� ����� �$�%�/% %���%� �� ��� -��
������ αi

(
i = 1, 8

)
 

#� ��� %����� ��� %�
���
�� c1 c2 �� �� �� $����
� %�
%�������
 �� D���� ���#��
 ���
������� ��
%���
� Hαi,αj (z) �
 8��9� 5� ��+� ��� �
���
%� c1 = 0 c2 = 0 �
 Hα1,α2 (z)
�
� Hα3,α4 (−z) �
� c1 = γ1 > 0 c2 = γ2 > 0 �
 Hα5,α6 (z) �
� Hα7,α8 (−z)� "�� αi(
i = 1, 8

)
��� %����
 �� ����⎧⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎩

(α3 − α7) sinπλ1 = − cosβλ1,
(α1 − α5) + (α3 − α7) cosπλ1 = sinβλ1

(α4 − α8) sinπλ2 = − cosβλ2,
(α2 − α6) + (α4 − α8) cosπλ2 = sinβλ2,
(α3 + α5) sinπλ1 = X,
(α4 + α6) sinπλ2 = X,

8�,9

#���� X � max {A,B} 

A = max {0,− cos (π − β)λ1,− cosβλ1} , B = max {0,− cos (π − β)λ2,− cosβλ2} . 8��9

C��
& %�
���������
� �� �
 ��� �
� %�
 ������ ���# ���� ��� ������ 8�,9 ��� �� �����/��
�� 
�
!
�&����� α� .�� ��� α ��� 
�
!
�&����� �
� �
� �� ����� �� $�������� 4� 8�=9 8��9



�,, ����� ����	
�	
�

�
� 8��9 #� ���� ��� ����� η 0 < η < π 

log f
(
reiθ

)
=

πrλ1

sinπλ1

[
(α1 − α5) e

iλ1θ + (α3 − α7) e
iλ1(θ−π)

]
+ ε′ (z) rλ1 , 8��9

log f

(
eiθ

τ

)
=

πτλ2

sinπλ2

[
(α2 − α6) e

−iλ2θ + (α4 − α8) e
−iλ2(θ−π)

]
+ ε′′

(
1

z

)
τλ2 , 8��9

0 < η ≤ θ ≤ π − η; ε′ (z) → 0, �
������� �� |z| = r → ∞
�
�

ε′′
(
1

z

)
→ 0 �
������� �� |z| = 1

τ
, τ → ∞.

C��
& 8��9 8��9 �
� ��� ���� /��� �-�����
� �� 8�,9 #� �����


log
∣∣f (reiθ)∣∣ = πrλ1

sinπλ1
sinλ1 (β − θ) + ε′ (r, θ) rλ1 , 8�=9

log

∣∣∣∣f
(
eiθ

τ

)∣∣∣∣ = πτλ2

sinπλ2
sinλ2 (β − θ) + ε′′ (τ,−θ) τλ2 , 8��9

#���� ��� -��
������ ε′ (r, θ) ε′′ (τ,−θ) ��
� �� D��� �
������� �� r → ∞ τ → ∞ �
�
η ≤ θ ≤ π−η� .�����&� 8�=9 �
� 8��9 ��� 
�� ����� #��� θ ��$��%�� �� −θ ��� ����$����%

�������� �� f
(
re−iθ

)
�
� f

(
e−iθ

τ

)
��� +
�#
 ��
%� �� 8��9 ��� ��
%���
 f (z) �� ����

��� ���� ������ �� z �
� ��
%�∣∣f (reiθ)∣∣ = ∣∣f (re−iθ
)∣∣ , ∣∣∣∣f

(
eiθ

τ

)∣∣∣∣ =
∣∣∣∣f
(
e−iθ

τ

)∣∣∣∣ .
C��
& ��� ������ ���� 8��� E� ,��9 #� �����


ω+η∫
ω

∣∣log ∣∣Hαi,αj

(
reiθ

)∣∣∣∣ dθ < Arλ1

⎛
⎝η +

ω+η∫
ω

log

(
1

sin θ

)
dθ

⎞
⎠ , 8�>9

ω+η∫
ω

∣∣log ∣∣Hαi,αj

(
eiθ
/
τ
)∣∣∣∣ dθ < Bτλ2

⎛
⎝η +

ω+η∫
ω

log

(
1

sin θ

)
dθ

⎞
⎠ , 8�?9

(0 � ω < ω + η � π) A B ��$�
� �
�� �
 Hαi,αj (z)� ��# ���� 8�=9 8��9 �
� 8�>9 
8�?9 �� ������ �����#� ����

m (r, f) = rλ1

sinπλ1

β∫
0

sinλ1 (β − θ) dθ+o
(
rλ1
)
= rλ1

λ1 sinπλ1
(1− cosβλ1)+o

(
rλ1
)
(r → ∞) 

m
(
1/τ, f

)
= τλ2

sinπλ2

β∫
0

sinλ2 (β − θ)dθ + o
(
τλ2
)

= τλ2

λ2 sinπλ2
(1− cosβλ2) + o

(
τλ2
)

(τ → ∞)�
4� 8�@9 �
� 8��9 

N (τ, r, 0)∼ (α1+α3) r
λ1

λ1
+
(α2+α4) τ

λ2

λ2
, N (τ, r,∞)∼ (α5+α7) r

λ1

λ1
+
(α6+α8) τ

λ2

λ2
. 8�@9
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2�
%� ���
& 8�,9

T (τ, r, f) ∼
[

rλ1

λ1 sinπλ1
+

τλ2

λ2 sinπλ2

]
(1 +X) . 8��9

C��
& 8�@9 8��9 �
� 8�,9 #� &��

u = lim
τ→+∞
r→+∞

N (τ, r, 0)

T (τ, r, f)
= max

{
(α1 + α3) sinπλ1

1 +X
;
(α2 + α4) sinπλ2

1 +X

}
=

= max

{
cos (π − β)λ1 +X

1 +X
;
cos (π − β) λ2 +X

1 +X

}
=

=
max {cos (π − β)λ1; cos (π − β) λ2}+X

1 +X
. 8�,9

<��������

v = lim
τ→+∞
r→+∞

N (τ, r,∞)

T (τ, r, f)
=

max {cosβλ1; cosβλ2}+X

1 +X
. 8��9

.� X ������ �%%����
& �� 8��9 ��� $��
� (u, v) #���� %�����
���� ��� &���
 �� 8�,9 �
�
8��9 ���%����� ��� ��&��
� Cβ �
%�$� ��� ��� �
�!$��
� (1, 1)� 4�� ��� ������ u = 1 
v = 1 ��� �����
�� ��� �
� ��
%���
 f #��� δ0(0, f) = δ0(∞, f) = 0� "� %��$���� ���
$���� #� 
��� �� %�
����� ��� %���� λ1 < 1

2  λ2 < 1
2  u = 1 v < min {cosπλ1; cosπλ2}I

u < min {cosπλ1; cosπλ2} v = 1� A�
����� ��� ��
%���


f (z) =
H1+α1,1+α1 (z)

Hα1,α1 (z)
,

#��%� ������

m (r, f) ∼ rλ1

λ1
, m

(
1/τ , f

)
∼ τλ2

λ2
,

N (τ, r, 0) ∼ (1 + α1) r
λ1

λ1
+

(1 + α1) τ
λ2

λ2
, N (τ, r,∞) ∼ α1r

λ1

λ1
+

α1τ
λ2

λ2
(α1 > 0) ,

T (τ, r, f) ∼ (1 + α1) r
λ1

λ1
+

(1 + α1) τ
λ2

λ2
,

u = 1, v =
α1

1 + α1
.

5��
 α1 ������ ���� 0 �� ∞ v �����
� ����� ����� �
 (0, 1)� "�� %��� u = 1 v = 0 ��
������� ��
%� #� ��� ��+� ��� f (z) �
� �������$��% �
 C\ {0} ��
%���
 #��� � %��$�� ��
��������� ������ (λ2, λ1) #���� λ1 < 1

2 �
� λ2 < 1
2 � E����
& ���� f (z) �� 1

f(z)  �� �� %����

���� ��� ������ �� u �
� v ��� �
%��
&���

/� &%��� '� �
� ����������� �
 �������	
�� 
�������� �
 ����� ���� �
�� ��� 3 &%��� '��
�("�� )�*�+� 33#�4� (��
� 5� 6 /- .� 6 7��� ��� 6 *� �00��2.�

�� ,��
�(� -� ����	�������� �����
 �
������������� �
 ����������� ��� �������	
�� ��
������� 
�������� 3 ,��
�(� -�� ,������ -�� �
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EFGHI f 6 JFKLJLKMNH MONPQ�R S TKLPLULV�I TULWXN� C\ {0}� YXSZF�
NL TKL[UFJO JL\UXSXG ]FMFPVNXG ^NHZFN_ � SFUXZXNX S�]TLS�]NXG ]FMFP�
V�S JFKLJLKMNXG MONPQ�I O TKLPLULV�I TULWXN�� `LSF]FNL ]FRP� aT�SS�]�
NLbFNNR aVLaLSNL ]FMFPV�S JFKLJLKMNLc MONQ�c f � dL^eURNOVL TKL[UFJO
EFSHNU�NNX ]UR JFKLJLKMNLc S TKLPLULV�I TULWXN� MONPQ�c�
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fOaV_ f 6 JFKLJLKMNHR MONPQXR S TKLPLULVLI TULaPLaVX C\ {0}�
dHaaJLVKFNL TKL[UFJO SL^JL\NgG ]FMFPVNgG ^NHZFNXI X SFUXZXNg
aLLVSFVaVSFNNgG ]FMFPVLS JFKLJLKMNgG MONPQXI S TKLPLULVLI TULa�
PLaVX� haVHNHSUXSHiVaR NFPLVLKgF aLLVNLbFNXR LVNLaXVFU_NL ]FMFPVLS
JFKLJLKMNLI MONPQXX f � dHaaJLVKFNL TKL[UFJO EFSHNUXNNg ]UR JFKL�
JLKMNLI MONPQXX S TKLPLULVLI TULaPLaVX�
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THKH XaVXNNgG TLKR]PLS� GHKHPVFKXaVXPH EFSHNUXNNg�
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